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[ Answer all questions in the spaces provided
T 1 Circle the decimal that is closest in value to B%%
' {1 mark]
0.04 0.048 0.049 0.05
2 = 6.0687s
2 v 2
ircle the area that is equal to 36 mm [1 mark]
2
360 cm? 3600 cm? 3.6 cm®
2 1
[em® = [00mmm
AN T
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Als(2,12)and Bis (8, 2)
Circle the midpoint of AB.

(3, 5) @, 8) (. 10)

2+38 _ 10 _ g
[ 2
Here is a sequence.

(1 mark]

.90 82 74 66 58

—— P

-6 -8 -4 -8
Circle the expresslon for the nth term of the sequence.

n-8 8n + 82 8n-98

Turn over for the next question

[1 mark]

— —

Turn over »

/V'ATHS /M‘DE EAS), 18/M/Jun17/8300/2H

e et — & e ¢ 4 e



o T R i mam————

L)

5 (a)

5 (b)

-

S e e L At -

A code hes 4 digits.
Each digit is a number from 0 to ©
Digits may be repested,

The code starts 6 4 1

Amy knows the last diglt is odd but not 7
She chooses a different odd number at random.

What Is the probabiliity that she chooses the correct number?

'[(SI S’ !

[
%

Answer

[1 mark]

The 4-digit code Is changed to an even number.
The first digit is 3

How many possible codes are there?

FIRST DigiT 1S FixeD, AST 3 DIGITS (OULd

[2 marks]
RE

D00 - 999 50 1000 OPTIONS. HALF OF THESE ARE

Evell, app ° = S00

Answer 5 00

0

M
o
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‘ Do et wik
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|
‘ 6(a)  Complete the table of values for  y = - x- 2
| {2 marks)

I
]
4

A

'
t
b
(
}
i
|
1

6 (b)  Draw the graph of y=x*-x-2  forvalues of x from -2 to 3

[2 marks])

( -2 . x

| .

: ete owd Bi3

Bk st

'{

i 6 (c)  Write down the x-coordinate of the turning point of the graph.

| [1 mark)

Answer ‘ 0. 5 —
|

Tum over »
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;; ' Use trigonometry to work out the length x. |
1 Not drawn
| accurately
i
' Ox 8cm H
- SOHCAHTOA
i 8| 72°
| [2 marks]
g C _ x
1 sm?Z = H =g
= X = §x sm 72 '—‘7,5/6«»‘(35&/)
|
;. Answer 7 {{ cm
‘r
E
|
T
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8 Lily goes on a car joumey. - § HOUFRS S 0.5 %4 =70 wmiles

Distance
travelled
(miles)

8 (a)  Draw a distance-time graph for her journey.

8 (b)  Write down the average speed for the total journey.

Do nol wrt
7 oulside
box

et e s -l

For the first 30 minutes her average speed is 40 miles per hour.
She then stops for 15 minutes. ¢ mwyre$ = 023 Howes e 60y 6.25 = IS
She then completes the journéy at an average speed of 60 miles per hour.

The total journey time is 1 hour. I
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0 5 10 15 20 25 30 35 40 45 50 55 60
Time taken (minutes)

(1 mark]}
/ Hovn, 35 - = 3§ o 3

Answer 3 -] mph

Turn over for the next question

Turn over »
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9 The table shows information about some CDs.

Type Rock Pop Jazz

Number of CDs 2 x 2c+6
[
: A CD Is chosen at random.
! The probabllity it is rock is oL
, 20
{ Work out the probability it is jazz. (4 marks)
i L. £ _
3 20 o = THERE ARE 40 CDs WTOTAL.
; S50:
; Ztx+ 2x+5 = @0
| = 3x+ F =40

= 3x = 33
|

=7 o = ?"/3 =

SO PROBABILITY OF Cneosws Jp22 = 72 = 4o 3 EM

| 27
' Answer /4-0
|
|
[ .
g
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Turn over »
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outsice the
pos
10 The ple chart shows information about voters in an election.
Voters
= Men
f 110°
l Women
|
|
|
s
' 3360 more women voted than men.
f Work out the total number of voters.
[3 marks]
| 360 - 110 = 2S0° For wopen
DIFFERENCE = 750 = 110 = |40
|
! 3340 < L0 = T4 PEVLPLE pep DEGREE
E
|
2x 360 = 8640 TOTAL PEOPLE
Answer 86["0
7




1 0 not wili
outsice
box

1" Write these numbers in descending order.
9563 9.56 x 10° 9.56 x 3%
4563 9560 S66S08.4L,  [2marks]
|
Answer 9,86~ 3" ' 9563 7.55)(/03

f

Hll! !Rﬁil!m
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. . Do not wrile
11 outside the
box
12 A, B, C, D, E and F are points on a circle.
Not drawn
accurately

|

‘ D
|

|

!

§

!

Circle the line that Is a diameter of the circle.
[1 mark]
BE AC BF
Turn over for the next question
(0+80 = 90 = Anpsle ACD = 180 - §0 = 40
= AD s DIAMeTER
(/1/1/6(5 M A SEAMI-CIRCLE 15 A
RIGHT Apgic)
"3

L

11 MAT HS MADE EASY ‘ 1B/MIAM 7/8300/2H
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To make one cheese sandwich, Gina uses one bread rofl and two cheese slices.

Pack of 15 bread rolls Pack of 20 cheese slices
£1.88 £2.15
She is going 1o buy enough packs to

have exactly twice as many cheese slices as bread rofie
make more than 100 cheese sandwiches.

Work out the least amount she can spend. {4 marks]

SHE NEEDS MoRE THAN (00 BREAD [CLLLS.

TRY ; 105 = 1S X 7. Then, NEED 108 x2 = 2/@
CHEESE SLILES, BUT 2/0 poT puyLTIRE OF Z6- X

TRY : (20 = IS X8, THEN, MEED J20xZ = 74U
(HeeSE stices, Py = 12, S0 THis 15 PUSSIAL

cosT = (8 x (.88) + (12 2.15)
= 40.86

Answer £ 40' 8

IMMIZM MATHS PMADE EASY A 70024
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The graph shows the cost of some taxi journeys.

.l'»‘ . r-; (31
61~ +

54+

Cost, £C |- "/f:-f N r

T
e - ek PasGEN RN
¥ +: tt t cen -
by o 4 PRI S -
e == 4 - temd | i ew s
+
i (IR B ) - wqd
4 -y = viow e
.4 1 e o
1 N . » 4’-
Y=o o i
4 -0 . - [ T
o (RS- - (IR S
; vo g a bgah o]

0 1 2 3 4 5
Number of miles, n

Work out a formula for C in terms of n,

s
INTERCEPT AT €= 2.5 (WwHen n <)

i

[3 marks}

3
GRADIENT = 25

. o _ 3, . %
L= gh®3

(7 I
X
%
~jva

]

Answer (

L

T P—

=1}

Turn over p
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15 (a)

Sami s trying to work out the exact value of y using Pythagoras' theorem.

Not drawn
2y em accurately
6 cm
.
8cm
Here is her working.
@) = 6%+ 8
2y2 = 36 +64
2y2 = 100
,v2 = 100+2
¥ = 50
y = JS_O-
What error has she made in her working?
[1 mark]

ON Lve 2, (?h)z = by #F 1y

i E
i
1 4

PATHS  /UDE CAsY | g0
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15 (b)  Kaiworks outthat y=5
Me! says, ‘

“y cannot be 5 because the hypotenuse should be the longest side and the
other sides are longer than 5 cm”

Is Mel correct?
Tick a box.

Yes No /

Give a reason for your answer.

[1 mark]

THE LENECTH OF THE HYPITENUSE 1S MOT 4 BT 2y,

WHICH would BE [Ocw WAHICH 1S Lowbere THAN THE OTHER SIDES.

16 Here is a box plot.

o 10 2% 30 40 50 60 70

Circle the median value.

35 24 22
I -

i

MATHS MADE €AsY

{1 mark]
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oulsids the
box

" P is a rectangle with length 50 cm and width x cm
Q is a rectangle with width y cm

Not drawh
_ accurately

xcm

y cm

50 cm

m——gt i

/xl.l

The length of Q is 20% more than the length of P.

The area of Q is 10% less than the area of P.
R~ x 0.9
Work out the ratio x:y

Give your answer in its simplest form.

Q= l.20x SO = (0w

[4 marks]

i

AREA OF P

Sox,  AREAOF G = 604

g

AREA OF Q =

0.9 x (ALEA oF )

= 600\ = 0.9x SOx = 5

> 69 _ 2 = x4y

= {O:QS -'4.'3

J

S J

4

Answer

|

|

|

l_ P

1T —

IR/Mun1T/8300/2K



17 Do no! wil

18 A school has 86 teachers.

42 are male and 44 are female. ' I MALE AND
1 Z x 42 = ALvE Cres
= of the male teachers have blue eyes. 3

|
- ¥ = |
% of the female teachers have blue eyes. & 4'4

18 (a)  § =teachers In the school
M = male teachers

B = teachers who have blue eyes

3
M B

33

diagram.
Complete the Venn diag [3 marks]

MALE BUT MOT PLUE EYES = (2-14 = 28

BLvE €rEs BV FEMALL = [

OTHER = 86 - (?g-f’ﬂ(- ‘f'll) = 373

18 (b)  One teacher who has blue eyes is chosen at random. It _ [ % S

ft it
Work out the probability that the teacher is male.
[1 mark]
(‘F/
Answer 15
|
- Turn over »

L1
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/

Rana sells 192 cakes in the ratio  small: medium:large = 7:6:11
The profit for one medium cake Is twice the profit for one small cake.
The profit for one large cake is three times the profit for one small cake.

Her total profit is £532.48

Work out the profit for one small cake.
[5 marks]

R el o e —
-a
@w

(}Ag— KDM : u \xa's’: =% \5\’6_
S€ 0 48" s gl 92l

; SIZE == SMmaLl : Mepvm ¢ [ aree TOTAL
i

! AMounT :- N

!

LET x = PROFIT For one SMUL CAKE. THEN,
2ot = MEDIUm CARE, 3x = [ARGCE CAKE  Frron Te rarm:

|

|

;'

|

i (56 x x) + (edx 2x ) + (88 x 3x) = 532.48
| D SEx+ 46X + 2tx = $32.4 8
!‘ $32.48

= 4= 532.48 = o = —4 - (.28

R

[, 28

Answer £

e —

"% MATHS MADE EAsY
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Do no? wle
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19 autsids the
bor
20 Work out the size of angle x.
SinE RULE: i
simd _ sin B |
o b
(3 marks)
Sin X san (25
¢ 4
= sx= X ,.-,.‘{zs = D, 35(065.... -
4
S x - s (0.3500(s.) = 20.6°
(%J.)
Answer 20.¢ degrees
Turn over for the next question
|
1} —
L | || 8
Turn over »
I w
LN
19 AW R0
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&

Solve &X' =10x+4
Give your answers (0 2 decimal places.

512' 107(-— 4. = 0

[4 marks])

6= S, b= -10, c=-4%

X = - ("U) i'\/fia?'%(-lp)xb' '

xS
= j0t/T80 . [#39C = 234 (74g)
(0 - O - 0.3 (24p)

Arigwer et 73{(} x:—O.’ﬂf

et - - et

B/M/Jun 17/3300/2H
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L besr
ia A bal\, dropped verlically, falls o metrss in ¢ seconds.
| disdtecﬂypmpuﬁmalbmesqmredr. Seo
! The ball drops 45 metres in the first 3 seconds, 2365 ¢ 72 410"
: How far does the bafl drop in the next 7 seconds? Lo
: . . [4 marks])
doet = d=kt
WHEN d=45 t=3 S0 (6= kx 3 = 4
= k = ll-s/q =S '
| So d=St%
i AETER 10 secorps (3¢7) o = Sx 10° = 500
; . ANSWER = 500 - S = (SSp.
Answer 4‘55 metres
Turn over for the next question
D

] Tum over »
21
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1T B

(B= (A+43 = 3a+k + 35 -14
= fa - 8b

6s — 86 IS NOT A rugite oF 2a- 3b THererme

BC pand (D ARE NoT FARALLEL, so musT NoT frocs

A STrRAICHT LINVE

Answer /V Q_

22 " busaite B
..}

— - It e U i — i v - .~ )

Is BCD a straight line?

Show working to support your answer. [3 marks]

: —
Bl = F4 + AC = Sa-24 -(3£*§)
(-CA) = Za -3¢

B8/M/Jun17/8300/2H
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o 23

24 48 students completed some homework.
This histogram shows information about the times taken.

- 34 FOREY 00 RRRDA PSS DUkl Buol] RF RbE PN Tiis
i ' B TR é—‘. .aJZ&_. Vel PSS '
Y PR CHPIEY ] - - - (& © & W C LI 2
1‘6 B T P S R AP S Y P P
¢ (L BER AR IEE g -def it P ] S - -
8 [P (PR S IR TP PR R
- t - .
I 1'4- = - - . .. -~ P b= s i e tm R st
| . = N S
.. ER - g ] -4 ' -
* S L . sows ! PR | - . ' * i x 4
1’2 cmef ey --:q:'lb . - IR -4
EES DS Rl . ol Exbi . il ey}
F 1'01 *... T | ]
requency P e
density i £ BR ! -5
0.8 ‘ 1
! e

0.6

i
|
f |
;‘ ' Iz 20 B
5 84 g f ;'r:
" t =
5 0.21 . ' —

= ,......:..4;.‘

l : J=2ig

0O 5 10 15 20 25 30 35 40 45
Time (minutes)

Work out an estimate of the interquartile range.

! You must show your working.
[4 marks]

‘ . N 3 “
LOWER QUARTILE: T = l% = (27 TErA
[4
IL- § = b PLACES vro SEcomd (BAR, S0
a’— 5+.{%x[0)=5+5=/0

UPPER QUARTILE : %'—' 53!6'8 = 34™ TER~
36 =78 = § PLACES wrp (A8 BAR, S0
Q,= 25+ (£ x 20) =15+8= 33 = 1@ =33-10=123

Answer z 3 minutes —

Turn over »
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25 The diagram shows a logo.
ABE and DCE are congruent Iriangles.
BCE Is a sector of a circle, centre E,
A D Not drawn
| A accurately
16 cm
r 28 cm v,
i
5
;’ B (0}
|
E
f Show that the area of the logo is 510 cm2 to 2 significant figures.
5 (5 marks]
r ! .
I A'ﬂEA’ OF ARE -'-"_z'ab;‘“c = ‘Z'X{SXUXSMgg P
= (20.053%... } S
e
(_(),vc,&ue/v-r’ Su AREA OF DCE = [20.05831... 77//
AREA OF pc€ = 108 .
J— re<
360 &
|
| FOR r, (OSWE RWLE : u'= b+ (- 2bews
B
: 3
| Sommwes 772
i - : 17
| = =AMt -78038 = 4,92
: SO ALEA OF BCE = _’ﬁg‘%xfrxaé.‘l&...)z = 741. 880....
 Torar = 269.880. + 2(120.0535...) =049 = o
;, (Isf]
Mﬂiﬂa /‘/IA'TH_S' MADE EASY 1B/M/un17/8300/2H
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Do nof wiite

owrside Me
. box
}
| 26 (a) A sketch of a quadrilateral ABCD is shown.
! YA C (6, 4)
; D(1,3)
Not drawn
accurately
; AR ) B (5. 1)
i 0 X
I
|
, ABCD is enlfarged, centre B, scale factor %
Circle the vertex that is invariant,
’ [1 mark]
's . o
|
‘,
26 (b) A sketch of a quadritateral PQRS is shown.
Y S(1,4
T (0. 4) Not drawn
accurately
R4, 2)
P(1,1) Q4. 1)
-
o x
PQRS is reflected inthe fine y=x
Circle the vertex that Is invariant.
[1 mark]
L s
| |7
l j
Turn over »

i}

1

5
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27 (a) hir) = ¥x for afl velues of x

i
f On the grid, draw the greph of the inverse function y= h (s} for -2 <r< 2
[}
. [2 marks] |
i B W7 Vl‘ = A SWITCH 3¢ AND = x?

| <7 Vi ; A J[ ‘1

| ¥ n 2 ,
| ::?L'(’() s X
!
i Rl 8L
! S S
" T ' o
| TN O B
l ""‘ A:-;v ..
! o  ..‘.
|
! =
{ erasft %
{' ; ' *
f; REY SRR & o
} 2T T AT i : :
;u H A 2 S0 EEIT] Y : o
! TP E35T | 9% PTI DES SR S el ML B
i ESIE EEI A TRESELHESS SV R e e
‘. o / LIS TR Sl SR Rtk Lt | 1o s
i . i f‘ L - _5 S ‘7 - ) ,‘.
| ' - ;_._L::;e. 28 5 BEE T

) E fL ‘

—awll:'L AT

BN B

;.?,; J
lmo" MATHS /MADE EASY —;
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e a—— e
e R e T

S ———— it S = et m o i e

@ 27
| 27 (b)  For all values of x
} fix)=sinx
; glx)=x+90
On the grid, draw the graph of the compasite function y=1fg(x) for 0° <x < 380°

[2 marks)

Lyl = £ = [(neng
= s (x + 10)

Sw x, TRANSCATED G0 T0 THE LEFT

sx (0190) = | s (90 +96) = O g (MBUs40)= -1

cn (270 +90) = 0

y
1
AN //
H
% ¢ | 180° ]fo" %00 |*
N /
-1

END OF QUESTIONS

o]

7
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